

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

Minor repairs to Assistant Commissioner Office building - Thrissur group.

Read 1. Note from AE dt. 25-03-2024

2. Note from AEE dt. 26-03-2024

3. Note from EE dt. 26-03-2024

4. Decision of DC dt. 01-04-2024

Order on H1. 233/2024 dt. 01-04-2024

As per the papers cited above an estimate of Rs. 4,98,000/- (Rupees Four lakh and ninety eight thousand only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 08-04-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Thrissur for exhibiting in their office Notice boards:

> (By Order) Sd/-K. Sreeja Assistant Engineer

To

Notice Board, AC- Thrissur, CA to DC, EE, AEE, AE, S.F,

//Approved for issue//

Junior Superintendent

EST NO:2024/6965

TS Register No: 17/2024-2025 AS Register No:4/2024-2025 MINOR REPAIR TO AC OFFICE BUILDING -THRISSUR GROUP

Abstract Estimate

(Dsor year: 2018,Cost Index Applied for this estimate is 35.59%)

	1 DISMANTLING ROOF	8
1	15.31 Dismantling tiled roofing with battens, boarding etc. complete includir and disposal of unserviceable material within 50 metres lead.	ng stacking of serviceable mater
	Net Total Quantity	344.064 sqm
	Say 344.064 sqm @ Rs 176.54 / sqm	Rs 60741.06
2	od377425/2023_2024 Dismantling tiled roofing's roof tile only complete including stacking of of unserviceable material within 50 metres lead.	f serviceable material and dispos
	Net Total Quantity	344.064 sqm
	Say 344.064 sqm @ Rs 105.93 / sqm	Rs 36446.70
3	15.14.1 Dismantling wood work in frames, trusses, purlins and rafters up to 10 including stacking the material within 50 metres lead:Of sectional area	
	Net Total Quantity	0.500 cum
	Other Say 0.500 cum @ Rs 3938.41 / cum	ns Rs 1969.21
	2 RESETTING AND WOOD WORK	410
1	od345886/2023_2024 Supplying and fixing Dept. wood wrought and put up for roof members materials etc. complete.	s including cost and conveyance
	materiais etc. complete.	
	Net Total Quantity	0.200 cum
		0.200 cum Rs 8323.23
2	Net Total Quantity	Rs 8323.23
2	Net Total Quantity Say 0.200 cum @ Rs 41616.15 / cum od345888/2023_2024 Supplying and fixing Anjily wood wrought and put up for roof members	Rs 8323.23
2	Net Total Quantity Say 0.200 cum @ Rs 41616.15 / cum od345888/2023_2024 Supplying and fixing Anjily wood wrought and put up for roof members materials etc. complete .	Rs 8323.23
2	Net Total Quantity Say 0.200 cum @ Rs 41616.15 / cum od345888/2023_2024 Supplying and fixing Anjily wood wrought and put up for roof members materials etc. complete . Net Total Quantity	Rs 8323.23 s including cost and conveyance 0.200 cum
	Net Total Quantity Say 0.200 cum @ Rs 41616.15 / cum od345888/2023_2024 Supplying and fixing Anjily wood wrought and put up for roof members materials etc. complete . Net Total Quantity Say 0.200 cum @ Rs 127438.09 / cum od345889/2023_2024	Rs 8323.23 s including cost and conveyance 0.200 cum

PRICE

4	50.9.14.1 Supplying and fixing Anjily wood reapers of size 50x25 mm with wire r of materials etc. complete.	nails including cost and conveyar		
	Net Total Quantity	0.368 cum		
	Say 0.368 cum @ Rs 102593.99 / cum	Rs 37754.59		
5	50.9.14.4 Supplying and fixing Dept. wood reapers of size 50x25 mm with wire r of materials etc . complete.	nails including cost and conveyar		
	Net Total Quantity	0.368 cum		
	Say 0.368 cum @ Rs 20832.05 / cum	Rs 7666.19		
	3 RE-ROOFING			
1	od345887/2023_2024 oiling roof member with diesel oil			
	Net Total Quantity	1032.192 sqm		
	Say 1032.192 sqm @ Rs 94.16 / sqm	Rs 97191.20		
2	od345890/2023_2024 Supplying and stacking M.P Roofing tile including cost and conveyance charge etc complete			
	Net Total Quantity	500.000 each		
	Say 500.000 each @ Rs 31.36 / each	Rs 15680.00		
3	od345891/2023_2024 Other Engineering Organisations			
	Supplying and stacking M.P ridge tile including cost and conveyance of	harge etc complete		
	Net Total Quantity	100.000 each		
5	Say 100.000 each @ Rs 45.30 / each	Rs 4530.00		
4	od345892/2023_2024 Roofing with existing MP tiles including labour charges etc.complete.			
	Net Total Quantity	688.128 sqm		
	Say 688.128 sqm @ Rs 69.85 / sqm	Rs 48065.74		
5	od345893/2023_2024 Setting M.P hip and ridge tiles set in lime mortar 1:2 including fin materials labour charges and conveyance charges.etc.complete.	ishing edges including all cost		
	Net Total Quantity	95.100 metre		
	Say 95.100 metre @ Rs 245.99 / metre	Rs 23393.65		

6	od377532/2023_2024			
Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation approved by Engineer-in-charge) 0.50 mm (+0.05%), total coated thickness with zinc coating 120 graper per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum avoid scratches during transportation and should be supplied in single length upto 12 metre or as des by Engineer-in-charge. The sheet shall be fixed using self drilling/self tapping screws of size (5.5x55 with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost purlins, rafters and trusses and including cutting to size and shape wherever required.				
	Net Total Quantity	20.580 sqm		
	Say 20.580 sqm @ Rs 603.66 / sqm	Rs 12423.32		
	4 FLOORING			
1	4.1.5 Providing and laying in position cement concrete of specified grade shuttering - All work up to plinth level:1:3:6 (1 cement : 3 coarse sand nominal size)			
	Net Total Quantity	1.600 cum		
	Say 1.600 cum @ Rs 7367.55 / cum	Rs 11788.08		
2	13.1.1 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)			
	Othor Engineer Net Total Quantity	5.000 sqm		
1	Say 5.000 sqm @ Rs 314.09 / sqm	Rs 1570.45		
1	od377603/2023_2024 Carpenter 1st class			
8	Net Total Quantity	10.000 each		
	Say 10.000 each @ Rs 857.19 / each	Rs 8571.90		
2	od377606/2023_2024 Extra Labours Labour- Mate			
	Net Total Quantity	7.000 Day		
	Say 7.000 Day @ Rs 971.70 / Day	Rs 6801.90		
3	od377607/2023_2024 Extra labour charge for clearing site			
	Net Total Quantity	8.000 each		
		Do 7000 04		
	Say 8.000 each @ Rs 878.78 / each	Rs 7030.24		
	6 CONTINGENCY SUCH AS OTHER UNFORSEEN			

Provision for GST payments (in %) @	18.0%
Amount reserved for GST payments		75815.14
Total	4	97010.14
Lumpsum for round off		989.86
	Т	OTAL Rs 498000.00
	Round	ed Total Rs 4,98,000
Rupees Four La	akh Ninety	Eight Thousand Only

(Cost Index Applied for this estimate is 35.59%)

Other Engineering Organisations PRICE